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Directions (1-5): Study the following information carefully and answer the given questions.

Eight friends i.e. ], K, P, Z, C, B, D, and G have decided to do the lunch in a restaurant. They have
seated on two parallel rows, each having five seats. Each row has one vacant seat but those vacant
seats are not opposite to each other. P, C, Z and D sit in row 1 and face South, whenever ], K, G and B
sit in row 2 and faces North. They like different colors i.e. Blue, Green, Grey, Black, Red, Yellow,
White and Pink, but not necessary in same order.

The one who likes Grey sits 2nd right of G but both do not sit at any extreme end. The one who faces
the one, who likes Grey, sits immediate left of the vacant seat of row 1. There is only one person sits
between vacant seat of row 2 and J. The one who faces the vacant seat of row 2 is C who likes Yellow.
P sits 3td right of C. The one who likes Blue is immediate neighbor of the one who faces P. The one
who likes green faces the one who likes Blue. K does not like Blue. Z does not like Green. The one

who likes white faces vacant seat of row 1. The one, who likes Pink sits second to the right of the one
who likes Red.

Q1. Who among the following likes White?
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Q5. How many person sit between G and J?

Directions (6-10): These questions are based on the following five numbers.

714 927 175 593 398

Q6. If these numbers are written with their digits in the increasing order, which number among
them will be 2nd Jowest?

Q7. If 3+d digit of 2nd highest number is divided by 1st digit of lowest number, then what will be
the final answer?

(a) 2

(b) 1

()4

(d)5

(e) None of these

Q8. If these numbers are written with their digits in the increasing order, which number among
them will be highest number?
) 175

QO. If these numbers are written with their digits in the decreasing order, which number among
them will be 5th lowest?
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Q10. If the addition of last two digits of each number is multiplied by 5 and then subtract by 1st
digit, then after doing the operations, how many numbers are odd number?
(a) One

Directions (11-15): Study the following information to answer the given questions

Eight students K, V, Z, H, B, X, E and ] are sitting around a square table in such a way four of them sit
at four corners while four sit in the middle of each of the four sides. They like different branded
laptops i.e. Lenovo, Toshiba, Compaq, HCL, HP, Apple, Sony and Dell. The one who sit at the 4
corners face the centre and others are facing outside.

K who faces the centre sits third to the left of X who likes Dell. The one who likes Dell sits third to the
left of the one who likes Toshiba. B who faces the centre is not an immediate neighbour of X. The one
who likes Sony sits diagonally opposite to the one who likes HP. Only 1 person sits between X and E
who likes Compagq. H sits second to right of V. V faces the centre. Z is not an immediate neighbour of
K. The one who likes Lenovo sits opposite to the one who likes Compaq. The one who likes HP is
immediate neighbor of E. ] does not like HCL.

Q11. Who among the following likes Apple laptop?
(@]

(b) V

©Z
(d)H
(e) E

Q12. Who sits immediate right of the one who likes HP?
(@) V
(b)J
@K

(dH
(e)E

Q13. What is the position of V with respect to J?
(a) Third to the left

(b) Second to the left

(c) Second to the right

(

(

d) Third to the right
e) None of these
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Q14. Who among the following likes Lenovo?
(@]
(b) V
(c)Z
(d)H
(e) E
Q15. Which is true from the given arrangement?
(a) E faces the outside
(b) V faces outside
(c)] faces inside

(d)K faces the outside
(e)None of these

Directions (16-20): In each of the question, relationships between some elements are shown in the
statements(s). These statements are followed by conclusions numbered I and II. Read the
statements and give the answer.

Q1e.

Statements:
K=N=0,0<P,Z=K
Conclusions:
I.Z=0
ILP=K

) If only conclusion I follows.
b) If only conclusion II follows.

(a

(

(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(

e) If both conclusions I and II follow.

Q17.

Statements:

A<Lz]<Z=CzD=E

Conclusions:

I.Z-E IBPS SPECIAL COMBO 2017
L]z A with Video Solutions

(a) If only conclusion I follows.

(b) If only conclusion II follows. 360 TOTAL TESTS

(c) If either conclusion I or II follows. + 150 Full Length Mocks

(d) If neither conclusion I nor II follows. *210 Practice Sets
(e) If both conclusions I and II follow. - E-Books, Study Notes etc.
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Q18.

Statements:
A=D=C=0G,D<H, C=F
Conclusions:

LF<G

II. H=G

a) If only conclusion I follows.

b) If only conclusion II follows.

(

(

(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(

e) If both conclusions I and II follow.

Q19.

Statements:
S=Pz]=M<[[S<A Bz=z]
Conclusions:

I.B=M

II. M<B

(a) If only conclusion I follows.
b) If only conclusion II follows.

(

(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(

e) If both conclusions I and II follow.

Q20.

Statements:
N=Z<D<E<Fz=G,E=X,Z=H
Conclusions:

I.F=H

II. Z=E

a) If only conclusion I follows.

b) If only conclusion II follows.

(

(

(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(

e) If both conclusions I and II follow.
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Directions (21-25): Study the following information and answer the questions given below:

There are seven friendsi.e. C, E, F, G, H, I, and J are working in different IT companies viz. TCS, CTS,
HCL, Wipro, Google, Microsoft and Infy. They go to company on different days of the week from
Monday to Sunday.

The one who works in Microsoft goes to office after the one who goes to office on Wednesday. There
are two days gap between the one who works in Microsoft and the one who works in HCL. ] works
in Infy goes to office just before the one who works in TCS.G goes to office on Tuesday. There are
three days gap between G and H. The one who works in CTS, goes to office just after the one who
works in HCL. The one who works in Wipro goes to office on Sunday. E goes to the office just before
I. C does not work in HCL. E doesn’t work in HCL and CTS.

Q21. Who among the following goes to office on Saturday?

Q23. Who among the following goes to office on Wednesday?

(@) G
(b) F
(c) E

(d)H
(e) C

Q24. How many days gap between the one who works in CTS and the one who goes to office on
Friday?
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Q25. Who among the following works in Google?
(@) G

(b) E

©]

(d) H

(e) C

Directions (26-30): Study the information given below and answer the given questions:

In a certain code

‘laptop pens copy pencil” is coded as “mlp hlt ngi snk’,
“pencil pens on paper’ is coded as “hlt sa rtv mlp’,
‘paper copy every Indian” is coded as “snk rtv Ine riy’
‘laptop Indian each day’ is coded as ‘ngi riy nop hus’.

Q26. What is a code of “Indian”?
(a) rtv

(b) Ine
(c) riy
(d) sa

(

e) None of these

Q27. “Ine ngi” could be a code for which of the following?
(a) laptop every
(b) on paper

(c) day every

(d) copy pencil
(e) None of these

Q28. Which of the following is the code for ‘Every’?
) nop
b) rtv = CAREER POWER

(a
(
(c) ngi R 1177117 ALUMNI COMPANY
(
(

Aoy IBPS CLERK

e) sa
MAINS

Q29. “riy snk mlp” could be a code for which of the following?

(b) paperlp?cil on with Video Solutions
EC)) o " ADTOTAL TESTS
. « 15 Full Length Mocks
d) copy Indian lapto
Ee)) CaII?:c be deterriinzd *25 Practice Sets

-E-Books, Study Notes etc.
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Q30. Which of the following is the code for ‘laptop’?

Directions (31-35): Study the following information and answer the questions given below:

Seven persons ie. G, H, I, J, K, L and M are living on seven storey building. Ground floor is
numbered as 1%t floor and Top most floor is numbered as 7t floor. They like different Cars i.e. Alto,
Swift, Ferrari, Safari, Ford, Nano and Centro but not necessary in same order. The one, who likes
Alto, lives on even numbered floor but below 5th floor. There are two floors between the one who
likes Alto and J. M lives on 6th floor. There are three floor between the one who likes Nano cars and
M. J does not live just above and just below M. The one, who likes Centro lives on odd numbered
floor and lives just below from K. The one who likes Safari lives just above K. The one, who lives on
1st floor, does not like Centro. There are two floors between K and I who does not live below from 4th
floor. L lives just above G and the one who likes Ferrari, lives just above the one who likes Ford. K
does not like Swift.

Q31. Who among the following likes Swift?
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Q34. Who among the following lives on 2" floor?
(@)l
(b)
(©)
(d)
(e)

anz

Q35. Who among the following lives on top floor?

(@) M
(b)J
©1
(d) G
@K

Directions (36-40): Study the pie-chart and solve the following questions:

Percentage distribution of JIO Usersin
different states

Total Users =1,21, 000

Q36. JIO users in Punjab and Assam together is what percent less than JIO users in UP and Goa
together.

(a) 30%
(b) 6%
(c) 10%
(d) 15%
(e) 25%
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Q37. If 20% of the JIO users in Haryana now using Idea, then find the number of remaining JIO
users in Haryana

(a) 15,388
(b)15,758
(c)15,658

(d) 15,588

(e) None of these

Q38. Find JIO users in Gujarat if JIO user in Punjab is 25% less than the JIO users in Gujarat.
(a) 29,400
(b) 29,040
(c) 28,040
(d) 28,400
(e) 29,004

Q39. If Ratio of male JIO users to female JIO users in H.P. is 4 : 7 then find the difference between
females JIO users to the male JIO users in H.P.

(a) 2,640
(b) 2,460
(c) 2,440
(d) 2,660
(e) 2,560

Q40. Find the number of Idea users in Assam if ratio between Idea users and JIO users in Assam is
5:11.

(a) 9,990

(b) 9,009
(c) 9,090
(d) 9,900
(

e) 9,909
CAREERPOWER

AN HIT/IIM ALUMNI COMPANY

Q41. The average of three numbers is 135. The largest number is
180 and the difference of the other numbers is 25. The smallest
number is :

2130 RBI ASSISTANT

(

(b) 125

() 120 MAINS

(d) 100 10 MOCK TESTS
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Q42. If S is 150% of T, then T is what per centof S + T ?
10
(a) 335%
(b) 40%
(c) 75%
(d) 80%
(e) 60%

Q43. A, B and C invested their capital in the ratio 5 : 6 : 8. At the end of the business they received
the profits in the ratio 5 : 3 : 1. Find the ratio of time for which they contributed their capital ?

()12'9:7
(b)25:18:8
(€)5:6:8
(d)8:4:1
(e)4:8:1

Q44. A sells his house to B at a profit of 10% who is turn sells it to C at a profit of 15% who in turn
sells it to D at a profit of 25% and D sells it to E at 35% profit. If cost price of E’s house is Rs.
35,00,887.5 what is the cost price of A’s house ?

(a) Rs. 12,40,000

(b) Rs. 10,10,000

(c) Rs. 18,00,000
(
(

~

d) Rs. 16,40,000
e) Rs. 14,40,000

~ ~

Q45. A can complete a job in 9 days, B in 10 days and C in 15 days. B and C start the work and are
forced to leave after 2 days. The number of days taken by A to finish the remaining work is :

(a) 8

b) 9

(
()6
(d) 1
(

(o

) 14
e)12

Directions (46-50): What will come in place of the question mark (?) in the following number
series?

Q46.12, 65, 264, ?, 1592, 1593
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Q47.15, 23, 37, 60, 95, ?

Q48.9, 5, 6, ?, 23, 60, 183,

Q49.240, 246, 234, 258, 210, ?

Q50.21, 30, 55, 104, 225, ?

Directions (51-55): What should come in place of question mark (?) in the following questions?

Q51.
256 + 16 x 8+ 64 +(512x8) + (32x 64)

-4y
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Q52. ) . ) CAREER POWER
(4913)z 4+ (2197)= — (625)z = 4% of ? |
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e) 150 All India Mock 2017

USE CODE: RBIA17

Q53. 25% of 1472 + 45% of 960 = 2% of 100 + 80% of 625.

Q54.

Q55.

Q56. A train travels a distance of 600 km at a constant speed. If the speed of the train is increased
by 5 km/hr, the journey would take 4 hrs less. Find the speed of the train.

(a) 100 km/hr

(b) 25 km/hr

(c) 50 km/hr

(d) 75 km/hr

(e) None of these
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Q57. Two customers borrowed the same amount of money, one at compound interest and the other
at simple interest at same rate of interest. If after 2 years, the interest payable by one was Rs. 220
and by the other Rs. 200, then, what was the principal money lent to each one of them ?

(a) Rs. 450

(b) Rs. 500

(c) Rs. 550

(d) Rs. 400

(e) Can’t be determined

Q58. A box contains 10 balls out of which 3 are red and the rest are blue. In how many ways can a
random sample of 6 balls be drawn from the bag so that at the most 2 red balls are included in the
sample and no sample has all the 6 balls of the same colour ?

Q60. The denominator of a rational number is 3 more than its numerator. If the numerator is
increased by 7 and the denominator is decreased by 2, we obtain 2. The rational number is :

(@)1/4
(b) 5/8
(c)7/10
(d) 8/11
(e) 10/13

Directions (61-65): In each of these questions, two equations (I) and (II) are given. You have to
solve both the equations and give answer

Qe61.
(x?—5x+4=0
(IDy*+5y+6=0
(@)if x>y
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Qe62.
(I)2x*—x—15=0
(I) 3y* — 23y +42=0
(@)if x>y

(b)if x>y

()ifx<y

(d)if x<y

(e) if x = y or no relation can be established between x and y.
Qe63.

(I)x*—15x+54=0

(I) y* + 15y —54=10

(@) ifx>y

Qo4.

(M x*+14x+40=0
(IDy* -5y —24=0
(@)if x>y

(b)ifx=>y

() if x<y

(d)ifx<y

(e) if x =y or no relation can be established between x and y.

Q65.
(I)x*—225=0
(II) x* + y* = 306
(@)if x>y

b)if x>y
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Q66.

1

Q67.

Q68.

7-22_
&

Directions (66-70): What should come in place of question mark (?) in the following questions?

52+82=524+7>
2 3 3 &

CAREERPOWER
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Q70.
2 of gofg % 336 = 90% of ?

Directions (71-80): Read the following passage carefully and answer the questions given below
them. Certain words/phrases have been printed in bold to help you locate them while answering
some of the questions.

Despite the economic crunch worldwide that saw pulverization of some of the largest banking and
finance giants, Indian banking houses have managed to show positive growth this quarter. Some of
India’s leading national banks have posted a net profit rise of more than 40% over the last quarter
amid global turmoil. This would come as a big shot in the arm for the investors and consumers of
these bank even though apprehension is mounting on other banking and broking firms worldwide.
One of the main reasons behind the success of these banks this quarter would be their direct backing
by the Government of India. People take solace in their investments in public sector watching the
bailout packages being cashed out by governments all over the world to save big business houses.
Other private banks in India have also reported a substantial net profit over the last quarter. Given
the international and domestic scenario, one cannot put this down as a mundane achievement. While
others are on a cost-cutting spree and firing employees, Indian companies are actually working on
boosting staffing banking and broking sectors. This can be seen as a big boon in the days to come
when the current recessions ease and the economy gradually comes back on the fast track. The
finance minister has assured Indian public about the sound health of the Indian banks. This could
also be evident from the fact that there have been no mergers and takeovers in Indian banking sector
in a contrast to world scenario where finance houses are looking for mergers to cut costs on
operations. We definitely are not looking to thrive; rather we are looking for growth. It is just that the
pace of growth is a little slow now as compared to a year or two before. These are hard times to test
the hard. The weak in business and career will be weeded out and it is sometimes very beneficial for
business in the long run.

Q71. What, according to the author, is the reason for the success of Indian national banks in this
quarter?

(a) Indian national banks do not have any commitments in troubled foreign markets.

(b) These banks can never financial crisis because of their sheer size.

(c) These banks are ready to give loans at a very low rate of interest

(d) The public is ready to invest in these banks because of the knowledge that these banks get strong
support from the Government.

(e) None of these
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Q72. What does the phrase ‘shot in the arm” as used in the passage mean?
(a) Shock

(b) Fear

(c) Encouragement

(d) Anxiety

(e) None of these

Q73. How, according to the author, is the current recession beneficial?

(a) Worldwide companies have realized that India is a strong power to reckon with.

(b) India is surging ahead of the other companies throughout the world.

(c) After the recession is over international companies will turn to India for investment.
(d) Recession is bringing down the prices of essential commodities.

(e) None of these

Q74. What, according to the author, will be a big boon in the days to come?
(a) The economy coming back on the fast track

(b) The slowing down of the economy

(c) Increased hiring in Indian financial sector in times of economic slowdown
(d) The cost cutting carried out by all the companies

(e) None of these

Q75. Which of the following statements is/are definitely true in the context of the passage?
I. India has not been affected by the economic slowdown.

II. India banks are showing growth in this quarter despite the recession.

III. While banking industry in the West was severely affected by recession in the past, it is now
gradually recovering and showing a positive growth.

(a) Only (i)

(b) Only (ii)

(c) Only (iii)

(d) Only (i) and (ii)

(e) Only (ii) and (iii)

Q76. Which of the following strengthens the finance minister’s statement about the sound health
of India banks with respect to the passage?

(i) There have been no acquisitions and mergers of Indian banks.
(ii) The Indian banks are recording a positive growth.
(iii) Layoffs have been observed worldwide.
(a) Only (i) and (ii)
(b) Only (i) and (iii)
(<) Only ()

(d) Only (ii)

(e) All (i), (ii) and (iii)
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Directions (77-78): Choose the word/group of words which is most SIMILAR in meaning to the
word/group of words printed in bold as used in the passage.

+|CAREERPOWER

Q77. Turmoil o AN IT/AIM ALUMNI COMPANY

(a) Danger

0 hoc IBPS CLERK
(c) Sadness MAINS

(d) Fear

(¢) Chaos with Video Solutions
Q78. Pulverization 40 TOTAL TESTS

(a) Polarisation + 15 Full Length Mocks

(b) Mashing +25 Practice Sets
(c) Debasement +E-Books, Study Notes etc.

(d) Fall

(e) Crushing

Directions (79-80): Choose the word/group of words which is most OPPOSITE in meaning to the
word/group of words printed in bold as used in the passage.

Q79. Thrive
(a) Succeed

(b) Deteriorate
(c) Worry

(d) Tremble
(e) Strive

Q80. Mundane
(a) Extraordinary
(b) regular

(c) Severe

(d) Visionary

(e) routine

Directions (81-85): Rearrange the following six sentences (A), (B), (C), (D), (E) and (F) in the proper
sequence so as to form meaningful paragraph and then answer the questions given below them.

A. What is important is sincerity and good faith.

B. One is sure that people in general are fed up with strife and want an end to this.

C. The Centre will have to be prepared to take harsh steps too.

D. The steps the Centre is taking to try to bring peace to the troubled Kashmir Valley are to be
welcomed.

E. There have to be attempts to create a cordial atmosphere among different factions, political or
otherwise, in Jammu and Kashmir and between the Centre and the State.

F. The ball must be kept rolling and there are bound to be positive results if efforts are made in right
earnest.
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Q81 Which of the following should be the SIXTH (last) sentence?

Directions (86-90): Which of the phase (A), (B), (C) and (D) given below each sentence should
replace the word/phrase printed in bold in the sentence to make it grammatically correct? If the
sentence is correct as it is given and 'No correction is required' mark (E) as the answer.

Q86. A freezing morning accompanied by a dense cover of fog set the toning for the coming
weekend.
) keeping tone
b) started the toning
) kept the tone
) set the tone
e) No correction required

(a
(
(c
(d
(
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Q87. The jail is in the news again with the finding of a postal and some bullets.

Ef); fo fincing CAREER POWER

w1 mn AN [IT/11M ALUMNI COMPANY

(c) finding -

(d) on found -

(e) No correction required @ IB PS PU v"
el MAINS

Qs8s. ;Fheil spa;e-ci'lilnchelc.ll ;ity throwshup severlal storiej1 fof with Video Solutions

struggle that school have had put up with to win playground for

their students. 15 Ful L'm TufT‘:L- TEkSTs

a) have had to put u . ull Length Mocks

Ebg had put up tI; ’ *25 Practice Sets

(c) have had to put up with *E-Books, Study Notes etc.

(d) had to put up to

(e) No correction required

Q89. Emotions was high as both families were taken to the police station last night.
(a) Emotions went higher

(b) Emotion become high

(c) Emotionally high

(d) Emotions ran high

(e) No correction required

Q90. Work at all the court complexes was paralysed as lawyers went on a day-long strike as a mark
of protest.

(a) For a one day strike

(b) For a strike

(c) On a day's long strike

(d) On a day-long striking

(e) No correction required

Directions (91-100): In each of the questions given below a sentence is given which is divided into
5 parts. The first part which is numbered (1) and is grammatically correct. You have to find the
error in the other numbered part of the sentence and if you find the error in any part of the
sentence apart from (1) then that part of the sentence is the correct choice for the given question. If
all the parts are grammatically correct choose option (E) as your choice.

Q91. (1) As news of police /(A) violence spread, / (B) Patel community members, returning to
villages / (C)and towns from the rally, / (D)set fire government property./ (E)No error
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Q92. (1) The only /(A)silver line to this recent crisis / (B)over reservation was her successful
handling / (C)of talks with other OBC groups / (D)who make up 27 per cent of the state's
population. / (E) No error

(@) A

(b) B
(©C
(d) D
(e) No error

Q93. (1) A lot of real estate companies /(A) may come up / (B) with tempting offers and discounts

but buyers should / (C) always keep their eyes open and must check / (D) whether all approvals
are in place or not. / (E)No error

Q94. (1) Before investing, / (A)you should look after the / (B)overall business dynamics of the
company / (C)along with efficient management and /(D)good corporate governance./ (E) No error

(@) A
(b) B
(©C
(d) D
(

e) No error

Q95. (1) Considering that a large part /(A) of the population in India / (B) does not have access to
banking services, / (C) payments banks are expected to reach far-flung areas / (D) extending the
umbrella of financial inclusion to everyone./ (E) No error

e) No error

Q96. (1) My teacher used to /(A)check that we were / (B) on the right track and if any mistake
occurred, / (C) he would help us to analyse / (D) and resolve the issues. / (E) No error

(@) A
(b) B
(©C
(d)D
(

e) No error
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Q97. (1) He always said success /(A) was something to be celebrated, / (B) but he also believed that
failure is something / (C) that you must concentrate all / (D) your energies on resolving. / (E) No
error

Q98. (1) The centre accepted /(A) the report of a judicial commission / (B) that indicted former chief
minister / (C) and six of his ministerial colleagues against corruption,. / (D) favouritism, nepotism
and administrative impropriety. / (E) No error

Q99. (1) Companies like /(A) Infosys are moving fast / (B) on automation to ensure differentiation
at a time / (C) where the technology industry and business models / (D) are undergoing rapid
changes. / (E) No error

(@) A
(b) B
(©C
(d) D
(

e) No error

Q100. (1) With a sharp rise in the number of /(A) large-scale financial crimes, / (B) the CBI and
Indian Institute of Management have initiated / (C) the first-of-its-kind course to train sleuths / (D)
from the CBI to probe financial frauds. / (E) No error.

(@) A

(b) B

¢ 4 SSCCGLTIER II
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(e) No error ssn Bisus 8
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